
1 2 

3 4 

5.NBT.1 5.NBT.1 

5.NBT.1 5.NBT.1 

Find the value of the 
underlined digit. 

25.08 

Find the value of the 
underlined digit. 

3,482.84 

Find the value of the 
underlined digit. 

6,178.94 

Find the value of the 
underlined digit. 

506.53 

W a l d e n   G r e e n   M o n t e s s o r i   -    M a t h   T a s k   C a r d s



5 6 

7 8 

5.NBT.1 5.NBT.1 

5.NBT.1 5.NBT.1 

Compare the value of the 
number 7 in the numbers below. 

4,702.3 
385.7 

 

Compare the value of the 
number 4 in the numbers below. 

240.06 
154.25 

Compare the value of the 
number 5 in the numbers below. 

64.58 
3.05 

 

Compare the value of the 
number 2 in the numbers below. 

4,982.13 
344.62 
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9 10 

11 12 

5.NBT.1 5.NBT.1 

5.NBT.1 5.NBT.1 

The value of the 4 in 
4,325.86 is 100 times 
(greater/less) than the 
value of the 4 in 347.2. 

 

The value of the 6 in 
46.72 is 10 times 

(greater/less) than the 
value of the 6 in 63.04. 

The value of the 1 in 
21.35 is 10 times 

(greater/less) than the 
value of the 1 in 824.14. 

 

The value of the 9 in 
1,945.87 is 1,000 times 
(greater/less) than the 
value of the 9 in 74.92. 

 

W a l d e n   G r e e n   M o n t e s s o r i   -    M a t h   T a s k   C a r d s



13 14 

15 16 

5.NBT.1 5.NBT.1 

5.NBT.1 5.NBT.1 

Which number has a 3 
with a value 100 times 
greater than the 3 in 

67.34? 

a) 235.06   b) 1,304.8 
 

Which number has a 5 
with a value of 1/10 of 

the 5 in 25.82? 

a) 17.05   b) 304.57 

Which number has a 4 
with a value 10 times 
greater than the 4 in 

67.34? 

a) 235.46   b) 1,304.8 
 

 

Which number has an 8 
with a value of 1/100 of 

the 8 in 8,945.22? 

a) 548.02   b) 684.13 

W a l d e n   G r e e n   M o n t e s s o r i   -    M a t h   T a s k   C a r d s



17 18 

19 20 

5.NBT.1 5.NBT.1 

5.NBT.1 5.NBT.1 

The value of the 6 in 
238.63 is _____ the value 

of the 6 in 468.7. 

The value of the 2 in 
18.02 is _____ the value 

of the 2 in 54.23. 

The value of the 8 in 38.4 
is _____ the value of the 

8 in 82.61. 

The value of the 3 in 
6,924.53 is _____ the 
value of the 3 in 735.2. 
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